TRIG FUNCTIONS- PART 2 (1.5) NAME

1. Sketch the angle @ in standard position. Then find the exact values for cosé and tané.

A 0=—— B.0=— C.O0=— D.O0=x

2. In each case, determine the quadrant(s) for angle T.

A.sinT <0 and cosT >0 B. cosT <0 and tanT <0

C.secT >0 and cscT >0 D. cotT <0 and cos*T >0

3. Solve for the angle so that 0 < angle < 27 . In each case there are two solutions.

: —/3
A. S|n0=T B. tan =0 C. seca isundefined

4. Find the exact value for csc A.

(-7, 3) A




5. Solve for the variable so that 0 < variable < 7 . Express your answers in radians.

l+tany
siny

A. =0 B. 2c0s’t—16=0 C. sin(2x)—cos(x) =0

6. Find the exact value for csc(tan‘l( D . Your answer will be in terms of x.

V2

7. Express the area of this triangle in terms of A, b, and c.

C b

(1-cos@)cos@—sind-sind

8. Simplify completely: (1 oS 9)2




